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"L In a cellular communication system, the signal
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t
caleulate the overall signal-to-noise ratio. Also
caleulate the signal-to-CClI ratio, R
2. Inacellglar communica

tion system, the signal
Power received is ' ;

=97 dBm. The structure is g
The naise power is ~117 dBiy

required, wh;l

- Assume that

fmm.cnch of the

6. A mobile unit receives a power of ~(05 gy

If the predicted loss is 115 dB, what was thetrgs. -

‘mitted power?
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Thﬁ{!grsmﬂd‘“d deviationsof 8, 10, and 12dB. Gen-
lchilhtf lognormal or normal random numbers (at
,CS:SOOO) to compute the outage probability. , -

i3, Instead of using the random number generator
from MATLAB, use the analytical approach to
aleatate outage probability. Compare your results

fa..lf. how ™

- wothe values calculated in Problem 14,

I6. Use MATLAB to generate 1000 Rayleigh-
distributed random variables such that the average

* signal power is O dBm., If the threshold is —3 dBm,

compute  the  outage  probability. - Repeat the
sinulation for a threshold of =5 dBm.

17. Use the analytical approach to calculate the

eatage for the cases in Problem 16, and compare
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24, Consider a_seven-cell ‘pattem that uses' an
omnidirectional antenna with 54 channels/secior,
Calculate the trunking efficiency if

(@) A 60° sector antenna is used.

(b) A 120° scctor antenna is used.
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